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1.Please write a program {using C [anguage) to compute the sum of all
the following numbers using a for statement. {10%)

1 2 3 4 5
2 4 6 B
i 6 9
4 3

5

2.Please write down and explain the algorithm for Quicksort by using the
following data set; (10%)

i1 9 23 7 31 5 2 17

3.Twos complement coding is the commonest way of representing
integers during processing on a computer, What is the eight bits twos
complement code for 11101100 7 (5%)

4, Solve the recurrence equation

S(0)=1

and
S{H]=35{n-1}+3£_ - for nzl
And use the result to find 5(6). (15%)

5.Explain the following terms: (10%)
a). HTTP

b). TCP/IP

¢). Virtual Reality

d). VRML

e). Artificial Neural Network
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